EO—S—PF Y 3Fr—&UTCTHERVEEIFRT,

HZINO)

B cmm

Ris% swoER sELabt »www.iwata-fa.jp  [EDP s&z5ER » monodukuri.iwata-fa. jp
N—-ZAH 1z ]l | RoHS .
RPYY I Tous]| 25

BN =

¢D
$D1
1

ME RENIE TR
NT 27 (SUJ2) 18 NACHIR Ziitt &
R bt oy e | LD (T2 /Y— 1) —03E) 118
i I AARFHBIRER L b (SCM4ABE/=Mli Y 0 X — b) 1K

FAR@
) B imm
L
L1
j{} HERILL
a8 ‘[fJJ%H“,%
= 4
,7u£}
B L2

MERENIE 1B
N7 27 (SUJ2) 118 NACHIRZ st &l
Rt bt oy e | LD (1572 /Y~ —303E) 118
ol G =Y I RERMAEIL N (SUSXMT7) 174

S N ) TEHE — . w
o i ;d/7jED 5| Wik |9D1| L L | L2 | 38 |#HEALE ﬁ*(%sg_ / '7”1’;%’(;;
60002Z | 10 | 26 | 8 | @ | 19 | 175 | 150 | 75 | 190 | M6x25| BB600OM 870
60012z | 12 | 28 | 8 | @ | 22 | 175 | 150 | 75 | 190 | M6x25| BB600IM 920
60022z | 156 | 32 | 9 | @ | 25 | 185 | 160 | 115 | 200 | M8x30| BB6002M | 1,050
6003z | 17 | 35 | 10 | @ | 30 | 195 | 170 | 105 | 21.0 | M8x30| BB6003M | 1,220
60047Z | 20 | 42 | 12 | @ | 30 | 215 | 190 | 125 | — | M8x25 | BB6004M | 1,280
60052z | 25 | 47 | 12 | @ | 35 | 215 | 190 | 145 | — | M10x25| BB6005M | 1,560
60062Z | 30 | 55 | 13 | @ | 45 | 225 | 200 | 135 | — | M10x25| BB6006M | 2,150
60072z | 35 | 62 | 14 | @ | 50 | 235 | 210 | 125 | — | M10x25| BB6007M | 2,490
62002z | 10 | 30 | 9 | @ | 22 | 185 | 160 | 65 | 200 | M6x25| BB6200M 810
62012z | 12 | 32 | 10 | @ | 22 | 195 | 170 | 55 | 21.0 | Méx25| BB6201M 870
620227 | 15 | 35 | 11 | @ | 25 | 205 | 180 | 95 | 220 | M8x30| BB6202M 990
62032z | 17 | 40 | 12 | @ | 30 | 210 | 185 | 90 | 225 | M8x30| BB6203M | 1,220
620477 | 20 | 47 | 14 | @ | 35 | 235 | 210 | 105 | — | M8x25, BB6204M | 1,510
620522 | 25 | 52 | 156 | @ | 40 | 245 | 220 | 115 | — | Mi0ox25| BB6205M | 1,680
620627 | 30 | 62 | 16 | @ | 45 | 255 | 230 | 155 | — | M10x30| BB6206M | 2,310
620727 | 35 | 72 | 17 | @ | 55 | 265 | 240 | 145 | — | M10x30| BB6207M | 3,070

”
’

iwata





